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HW 1.3 REFLECTION PARAGRAPH

This week we have learned about the formula for inclined surfaces, and force acting on a
submerged curved surface. In one of the problems in the video lecture, we saw that for the
decomposed surfaces we have to split them into two parts. Vertical which is equal to weight
W, and Horizontal which is equal to the projected area that computes it. Furthermore, we went
over on how to obtain the location of the weight for the Vertical surfaces. We just use the
centroid of the volume in this case. One of the problems we did had a connection with the
force on a curbed surface with fluid below it. We talked about buoyancy and pressure and said
that the center of buoyancy is the center of displaced volume. Lastly, the condition for
stability of bodies completely submerged in a fluid is that the center of gravity of the body
must be below the center of buoyancy.
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